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INSTRUCTIONS _

1. Please correctly fill your Roll Number in O.M.R. Sheet.
Candidate will himself be responsible for filling wrong Roll No.

2. At the start of the examination, before attempting the
question paper kindly check your test bocklet and O.M.R.
Answer Sheet and ensure that:

x  The serial numbers of test booklet and O.M.R. answer sheet
" are same.

*  All pages of test booklet and O.M.R. answer sheet are
properly printed. Alf questions from S. No. 1 to last S. No. 160
are printed and pages from S. No. 1to last S. No. 32 are there
in the question booklet.

in case of any discrepancy/defect the candidate should

immediately report the matter to the invigilator for replacement of

test booklet and O.M.R answer sheet. No claim/objection in this
regard will be entertained after five minutes of start of examination.

Candidate will be liable for it.

3.  Answer all questions.

4. Al questions carry equal marks.

5. Only one answer is to be given for each question.

6. If more than one answers are marked, it would be treated as
wrong answer.

7. Negative marking is applied, one third (1/3) of the marks
aliotted to the question will be deducted for every wrong
answer. Wrong answer shall mean ‘an incorrect answer or
multiple answers..

8. Each question has four alternative responses marked serially
as (A), (B), (C), (D). Candidate has to darken only one circle
or bubble indicating the correct answer on the Answer Sheet
using BLUE BALL POINT PEN.

9. Use of Mobile Phone/ Bluetooth Devices or any other
electronic gadget in the examination hall is strictly prohibited.
If any such prohibited material is found with any candidate,
strict action will be taken by the Board against him/her as per
rule.

10. If there is any sort of ambiguity/mistake either of printing or
factual nature in Hindi and English version of the question,
the English version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.I.R. would be lodged
against him/her in the Police Station and he/she would be liable to
be prosecuted under Section 3 of the State Prevention of Unfair
Means Act, 1992 and Board Regulations. Board may also debar
him/her permanently from ali future examinations of the Board.
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- TEtEET) et @ Wdy # oRITT g uEAy — :
(R) feT — W, doraieh, Frerey (B) Sivrer — A, PR, Teq

(C) I — arifa, AR, arfe=h (D) g5 — I, e, a9
- SRR B gfte q e d W dear g T 87
(A) HTaT S BT HT T B A (B) *liuTel # 3ieh oreld ¥ |
(C) WY & | I A B WY ¥ | (D) a8 IT o7 Raemsy 2|
- faadt < & T o 9 i S -
(A) RRWIT, TR, doieer (B) SaemiTdl, STaTeTgE, FHIER
(C) IeMeR, gTofa, amug - (D) #TeerR, TswH, T Wi
AT dfgd s 9 R v e Ree § Wl ¥
(A) diaier (B) ATy
(C) ATy (D) srivHY
- faetm v @Y gfie W B g agRE 27
(A) 31t — el | (B) ¥fad — uRelfrs
(C) arfgfe — sggfe (D) aifafdy — afeerg
- fou e & o0 = @ Sugdt ) FAff 8
(A) |AIcalTd, Wfopan, |gHTE, TEuTeS! (B) WEHIgAT, WEI®, TRICY, WETHA
(C) wfgq, Hewal, ArRid, oo (D) |5y, ¥H™, AEHT, Foig

- o9 fAee & s wRaifte v &1 Tvwe R=<) TRTRe s v 27

(A) Departmental Negligence — frfg Ser (B) Denial — axae

(C) Deviate — affgq (D) Decree — gaA=THT
TR o7l wR-fmT w27
(A) Tz + S (B) vz + o
©) gz + s ) <z 4+ f
- FrefeiRad Wi 73t 31 ST WA e B e AR BT —
(i) waTed), o, Haws (@) ey T <
(i) ¥R, S, FTER (@) fg WA
(iii) TITBIIT, M<HA, HbeT () I |HN
(iv) YHTEER, TIHR, IREHT (@) THIRY T
(A) (i)-71, (ii)-, (iii)-T, (iv)-@ (B) (i)=&, (ii)-T, (iii)-H, (iv)-®
(€) ()-, (i)-, (iii)-T, (iv)-T ' (D) (i)-w, (ii)-, (iii)-&, (iv)-T
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10.

11.

12

13.

14.

15.

16.

17.

BT W TR YW BT 3 9 Al 27 :
(A) TRfo—aeell — Jaa—gd (B) 5—ds — frev—gfe

(C) Bl — fgorT—= (D) 3FIe—3E — IUHR—AET
¥ aa aren fdder gy — ,
() A, i |  (B) ITareh, s@elw
(C) uTxR, gearl (D) g, foRae
e @ PIH—1 9] R A FT SIIER0T T8I 87
(A) =g (B) 3r=g
(C) foramew (D) i
e g1 & dmifdast & G-I § 7 31l & W Ao By —
-1 -1
(a) T Y TATETE, SHHAT MU STATG (1) =l & T < 9t
(b) BT WA § TG 2) e B¢ g figia =€ g
(c) TEe MR 9 SqAI-FIeR (3) IFD—R TAB T FHAT
(d) 9 919 99 T E (4) YT goIT | T
(A) (a)-1, (b)-3, (c)-4, (d)-2 (B) (a)-2, (b)-4, (c)-1, (d)-3
(©) (a)-2. (b)-1, (c)-4, (d)-3 (D) (a)-3, (b)-4, (c)-1, (d)-2
frfafag § 9 e9-ar SR F aam 27 ‘
(A) TR / (B) IUSITS;

(C) weyg (D) TRE

AN & GEY H T HUA © —
(A) STef vm ug Py &7 99 8 S 5] aogey 9T BEd © |

(B) Rl ey & WA UGSl # AMGRY $RS 8T H, U, W' BT GAT BT B |

(C) WH%T g I THE AN H UYMW U & O fawfaw fga &1 @ fear s 2
(D) ®daRY fagmor — fasrsy o1 AN BT ©
e & frg fames § Baa yg’ &1 8 yanT fear T 87

(A) 3Ryre, Srre, TR (B) dif¥res, smafie, anfue
(C) ~arafe®, urifd®, HTead (D) grefie, aFffed, Srgare
o fawen o ardifie e | oR[E I Uga g1 &7

(A) BRE, s (B) weamgH, Wimiferd

(©) g=rit, SIS (D) sy, FRIT
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18. ﬁﬁwwﬁ—la%ggmﬁaﬁqﬁ—nﬁwa%aﬁ%w@ﬁﬂﬁm?

-1 G-I
(A) T FT R T ST (1) e afd
(B) 3iS &1 BT (2) =t & forar gt B
- (©) FFara & 9x F TeT ' (3) fFAeiss &1 oM

(D) SIS TS QISMT (4) &9 HHM § N |/

(A) (A)-3, (B)-1, (C)-4, (D)-2 (B) (A)-4, (B)-3, (C)-2, (D)-1

(€) (A)-3, (B)-2, (C)-4, (D)-1 ‘ (D) (A)-1, (B)-2, (C)-3, (D)-4
19. frefafad & ¥ R Roe @ 4 o3 arar @ gaiard £

(R) wgET, 9™, AIENT ' (B) g1, areefl, el

(C) Wy, sifaapr, S+ (D) =T, ST, i
20. “We have taken our breakfast.’ ' -
BT AIHY BT Gelh o) HUERT & —

(A) B9 =rear g foram 2| (B) g5+ e o foram ¥
(C) &A= T B forar o (D) ¥ =T% o PR Y o |
- 21 ’Wm:ﬁmﬁrammsﬁ'mﬁﬁmwaﬁwﬁg%‘?
(A) o (B) B W
(©) R wafr (D) srera Wit
22. Frefeiad -1 @ e B G- S Tt @ W g AR —
a1 o -1
'(a)%_ﬁaﬁimmw () Igm E
(b) ST =T gamw Smam =@ (i) srrary
() foet axg Y ured He P DT g (i) erad
(d) T & WY I qrer femeft - (iv) 3nfe
(A) (a)-i, (b-ii, (c)-iv, (d)-ii | (B) (a)-iii, (b)-iv, (©)-il, ()i
(©) (a)-i, (b)-ii, (c)-iii, (d)-iv (D) (a)i, (b)-i, (c)-iv, (d)ii
23. YNR, Hogd, sigve’ Saa il v ity § —
(A) ¥ow B o (B) 71T B
©) 9ga & D) AR &
24. <ify & gRe & BT I S 87
(A) Tl — o dfer (B) Hif3r=B1 — Iv] &R wfY
(C)H:rf?irﬁﬂn—ﬁvﬁm (0) w@rrg — & wR
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25.

26.

27.

28.

29.

" 30.

31.

32.

33.

Read the passage carefully and answer the questions given below —

The choice we make on a daily basis — wearing a seatbelt, lifting heavy objects correctly or purposely
staying out of any dangerous situation — can either ensure our safety or bring about potentially
harmful circumstances. ;

You and i need to make a decision that we are going to get our lives in order. Exercising self-control,
self-discipline and establishing boundaries and borders in our lives are some of the most important
things we can do, A life without discipline is one that’s filled with carelessness. |

We can think it’s kind of live life on the edge. We like the image of “Yeah! that’s me! Living on the

- edge! Woo-hoo!” It’s become a popular way to look at life. But if you see, even highways have lines,

which provide margins for our safety while we're driving. If we go over one side, we’ll go into the
ditch. Tf we cross over the line in the middle, we could get killed. And we like those lines because
they help to keep us safe. Sometimes we don’t even realize how lines help to keep us safe.

The phrase “Potentially harmful circumstances™ refers to circumstances that can -

(A) Certainly be dangerous (B) Be fairly dangerous
(C) Be possibly dangerous (D) Seldom be dangerous
What does the author mean when he says, “To get our lives in order”?

(A) To resume our lives (B) To organize our lives
(C) To rebuild our lives _ (D) To control our lives
Synonym of the word ‘carelessness’ is -

(A) laxness : (B) heedfulness

(C) caution (D) vigilance

Which set of words fits well into the given sentence?

He pretended to fall ... my plan but secretly he was working against it.
(A) off through (B) in with

(C) into by ' (D) in for

The correct form of words in the brackets are —
We suggested (sleep) in hotels but the children were anxious (camp) out.

(A) that we sleep, camped (B) to sleep, To camp
(C) for sleep, about camp (D) sleeping, to camp
Which of the following is not the meaning of ‘bound’?

(A) to build a boundary (B) to spring or leap

(C) to be restrained by a material such as rope (D) to be controlled by a condition or law

What is the correct sequence of phrases —
this document (P)/ as proof of his guilt (Q) can we take (R)/ on the table (S)

(A) RSPQ (B) PSRQ
(C) RPSQ - (D) QPRS
Match the idioms in column I with their meanings in column II —
Column-I Column-I1 AR
(i) Callitaday ‘ (a) saying good luck to someone 5
(ii) Feeling under the weather (b) to leak a secret
(iii) Spill the beans (c) not very well
(iv) Break a leg (d) to stop work or another activity
(A) i-(c), ii-(d), iii-(b), iv-(a) (B) 1-(d), ii-(c), iii-(b), iv-(a)
(C) i-(a), ii-(c), iii-(b), iv-(d) (D) i-(d), ii-(c), iii-(a), iv-(b)

In the sentence — “Kalidas is the Shakespeare of India.” - the definite article ‘the’ is used
because -

(A) ‘Shakespeare’ is a pronoun.

(B) ‘Shakespeare’ is a proper noun used as a comparative.

(C) ‘Shakespeare’ is an adjective.

(D) ‘Shakespeare’ is a singular noun used to make general statement.
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34. Choose the appropriate alternative from the given options that comes closest to the idea conveyed by
* the sentence-
“You must be back within two hours.”
(A) You are likely to be back within two hours.
(B) You have to be back within two hours.
(€) You are obliged to be back within two hours.
(D) You have the option to be back within two hours.
35. Fill in the blank with the correct option — '
They know that extremists blew up the bridge. (Change into Pass1ve voice)
(A) They know that the bridge was blew up by extremists.
(B) It is known that the extremists blown up the bridge.
(C) It is known that the bridge was blown up by the extremists.
(D) Tt is known that the bridge would be blown up by the extremists.
36. Choose the part of the sentence you think is incorrect in the given sentence -
Nehru was one of the greatest statesmen who has led the Non-aligned Movement.

(A) Nehru was : (B) One of the greatest statesmen

(C) Who has led (D) The Non-aligned Movement
37. Match the sentences in column (A) with appropriate prepositions in column (B) —

Column-(A) Column-(B)

(a) My mother is afraid ............. cats. (i) for

(b) If you want permission you must apply .......... the Principal.  (i1) of

(c) We must all pray........... peace. (i11) at

(d) The crowd threw stones ............. the police. @iv) to

(A) a—(1), b—(iii), c—(iv), d—(ii) (B) a—(ii), b—(iv), c—(iii), d—(i)

(C) a—(iii), b—(ii), c—(iv), d—(i) ' (D) a—(ii), b=(iv), c—(i), d—(iii)

38. Choose the correct option —
He said, “My wife leaves for Vienna tomorrow”. (Change into indirect speech)
(A) He said that his wife had to leave for Vienna tomorrow.
(B) He said that his wife would leave for Vienna the next day.
- (C) He said that his wife has to leave for Vienna tomorrow.
(D) He said that his wife have to leave for Vienna the next day.
39. Match the words in column I to their antonyms in column II -

Column-I Column-I1
(a) conceal (1) ascetic
(b) hedonist (i) permanent
(c) hackneyed (111) reveal
(d) ephemeral (iv) original
(A) a-(iv), b-(ii1), c-(i), d-(ii) :
(B) a-(iv), b-(i), c-(iii), d-(ii) Eg

(C) a-(iii), b-(i), c-(iv), d-(ii)
(D) a-(iii), b-(iv), c-(i), d-(ii) ‘
40. Match words in column I with their meanings in column II -

Column-1 Column-II
(a) incongruous : (1) recover quickly from difficult situation
(b) resilient (i1) one who knows everything
(c) obsolete (iii) that which is no longer in use
(d) omniscient (iv) strange and out of place
(A) a-(iv), b-(i), c-(iii), d-(ii) ' (B) a-(iv), b-(ii), c-(iii), d-(i)
(€) a-(i), b-(ii). c-(iii), d-(iv) (D) a-(iv), b-(iii), c-(ii), d-(1)
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41. The batting average of a batsman in 40 innings 4. 1F FooraTa BT 40 TIRAT H Fecraroll o1 v
~ is 50 runs. His highest score is 172 more than 50 X1 B SUBT STOaH TR SHD T
his lowest score. If his highest and lowest scores R | 172 ksl Iore 21 AT IS ITaaH
are excluded, then average of remaining 38 IR =g Wﬁ'\’ gl Ry & §, o qrat 38
innings is 48 runs. Highest score of batsman in qiRAY &7 N 48 X BIAT B dootdrol @l
one innings is- BTddH Wﬁ'\’ T -
“(A) 174 runs (B) 172 runs (A) 174 37 (B) 172 %A
(C) 170 runs (D) 166 runs (C) 170 3= (D) 166 ¥
42. TIn the given figure, X = ............ 42.
152 xb(3) =19, then values of aand b ® ARk 5(3)xb(}) =19, Wa sk b F A
= are - ) % _ .
(A)a=8;b=4 (B)a=7;b=3 (A) a=8;b=4 (B)a=7;b=3
(€©)a=5;b=2 (D) a=5;b=4 (€ a=5;b=2 (D)a=5;b=4
4. Tn an examination, 33% marks are required to 4. v gher § wEnf B9 & fow 33% 3w
get pass. A candidate receives 238 marks and AR g1 U@ ongeft 238 i UTw dwar B
gets failed by 26 marks. Maximum marks of X 26 3ipl W Il & W | e @
examination is - arfeyae o & —
(A) 600 (B) 700 Eg (A) 600 (B) 700
(©) 800 (D) 900 (C) 800 (D) 900
45. P and Q started a business together and got ~ 45-.P 3R Q ¥ UH WM TS aw@d URE b
profit in the ratio of 3:5. If Q invested Rs. 3R 3:5 & Igud § o U fram) Iy Q 9
80,000 for 12 months, then P invested Rs. 12 718 @ forw 80,000 »ud e fvan, r P
72,000 for how many months? 72,000 W fFHaw 7 @ o e fpar?
" (A) 6 months (B) 8 months (A) 6 78 (B) § e
~ (C) 9 months | (D) 10 months (€) 9 uiE (D) 10 e
123 - @ Page 7 of 32



46. P and Q have some amount. If P gives Z 30 to 46. PR Q & U BB € § | I P, Q& 303
Q, then Q will have twice the amount left with JATE, QP U P& au g8 &9 DT T
P.But if Q gives 10 to P, then P will have U 2 IR AR QP # 10N E AP B

- three times the amount left with Q. P has I Q & 99 8Q o9 B f%pl:n T8I P D
amount - g‘% g R S —
(A) T34 (B) T 64 % (A) 34 % (B) 64T
(€)%62 (D) T 32 < (C) 62% (D) 32 Z

47. What is the average age of children in the class? % 47, e A el B S ey w27

Statement : I. The age of the teacher is as many - B : 1. Brers 9 IR =41 BT AT B aRIER
years as the number of children. Ty 2|
II. Average age is increased by 1 é‘j;; IL e e &) MY BT WY 2
year if the teacher's age is also % & foran s, @ s g H 1 ay
included. < o @ gy B e |
' 7% BT AT & Sfp el
(A) Statement I alone is sufficient but IT alone is {’x;g (A) 2 I % 1 S
not sufficient to answer A @ forg vata & »
(B) Statement IT alone is sufficient but I alone (B) Ter 11 arepe mé’ QBT 1 Srdben TR
not is sufficient to answer - a1 @ fory it 8 &
(C) Both statement I and II are not sufficient to oy (C) $o 1 SR 11 IHT R &3 & v vafe
answer ?g SR
(D) Either statement I or II alone sufficient to ¢ (@) I1 @ FUF 1 AT 11 ol SR o5 B forg
answer _ ' é% i 2 ‘

48. A work may be completed in 10 days, if X, Y S,,f 8. g X, Y 3R Z feax a1 = o) s a5
and Z work together. All three started to work 10 o o qof &1 Fobar &1 &9 3 Udh Y
together. X left after 4 days, then Y and Z facien} B g% far| 4 R T8 X 7em
completed the work by taking 10 more days. In ?% A9 B B Y ARZY 10 @R afw Ry
how many days could X complete the whole ) AT O AT | X sradern ol B B fbaay
work alone? & e ¥ U &N Hhar a7 -

(A) 15 days (B) 25 days k ;‘; (A) 15 25 (B) 25 foq
. = o

(C) 30 days (D) 35 days s ©) 30 o (D) 35 foq
; & S

49. A Scooty is available for T50,000 cash or  49. TH ¥R 50,0003 TG 3Frar 10,4003 e
310,400 cash down payments followed by 4 ST UHe W AR RER aiffe fheal & @
equal annual installments. If the rate of simple SUAY ® | I Hod &9 E) ©% 25% qifie
interest is 25% per annum, amount of each year 2, O % qiffes froa &) oy g —
installment is - |
(A) T 14,400 (B) T 14,600 (A) 14,4007 (B) 14,6003
(©) T 14,800 (D) ¥ 15,000 (€) 14,800% (D) 15,000%
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50.

Population of a city is 1,00,000. First year it is
increased by 5%, second year decreased by 8%
and in the third year increased by 3%. After

three years, population of the city is -

50. ug TER @ ST 1,00,000 1 SHH WM
Tf 5% ' ghe, B 9 F 8% @ A wen
T a9 ¥ 3% @1 gfg g3 | N a¥ 918 TR
B TR & —

W B4 {51 56,600 (499498 (B) 96,600
(C) 98,448 (D) 84,000 {% (C) 98,448 (D) 84,000

51. L.CM. of (¢ + 3q), (q* + 5q + 6) and (g* + 4q§§ 51. (* +3q), (g’ + 59 + 6) 3R (¢* +4q+3) &I
+3) 1s equal to - h TR FHAIdcd SRR 8 —
(A) (q-3) 8 w@g-y
(B) q(q+3) E - (B) q(q+3)
© q@+3)(q+2) . ©) q@+3)(@+2)

| D q@@+3)@+2)(@+D) e D) q@@+3)(@+2)(q+1)

52. A shopkeeper marks 10% more rate on bicycleg% 52. 1% THMER TP agfea & ifha qea 3 By
than purchase value. He gives 10% rebate onCC) T W 10% 93T foran g1 98 g foe
marked value of bicycle to a customer, then orlg‘:‘v:;“2 TTES BT SHfHa T W 10% Ll Qe E, Al
selling the bicycle the shopkeeper will be in - % 3 R ERT WAISfbel Io 0 ST —

(A)‘ Profit _ (B) Loss o (A) = & (B) =iy &l _
(C) Nether profit nor(D) Can’t say (C) 1 & &M & A €1(0) BB FET T W
loss P SRR L) 8

53. A boat coves 30km upstream and Mkm% 53. usp A9 ORT & URAwe 30 fHA. dom umT &
downstream in 10 hours. Again covers 40km§-5;§ ARl »44 fr, 10 Toe # it & | IF 13
upstream and 55 km downstream in 13 hours.?’;::“‘ e ¥ O B A 40 @A oo A ?5

| Igad 55 AL SRl 81 g A ReR ol 4
Speed of boat in still water will be - ;f a1 ST AT —
(A) 8 km/h (B) 5 km/h (A) g fp# /aver (B) 5 f5 AL /Hver
(©) 18 km/h, (B) 3 km/h . (© g A /Tmer (D) 3 e/ wver

54. If 24 is 2/3 of 3/4 of a number, then what wiug‘f’i‘; 54. 7fg 24 {5 W= @ 3/4 BT 2/3 B, A1 94
be 1/4 of that number? QQ TRAT BT 1,/4 FT BIT?

() 10 ®) 12 “ w1 (B) 12
(©) 14 (D) 16 8y ©14 (D) 16

55. The lengths of the diagonal of a rhombus are 24°  55- e GHag{s & a0l 1 darg wen: 24 I,
cm and 18 cm respectively; length of each side e 18 9. B W@ﬁﬁ P ISP Ll P
of the rhombus is - oarg g —

(A) 15 cm (B) 25 cm (A) 15 a9 (B) 25 {41,
(©) 21 em (B) 18 om (©) 21 ¥ (D) 18 ¥
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56.

A tangent PQ at point P of a circle of radius 5cm 56. 5 9. fFur 9 v gq B fog P W e
meets a line passing through center O at a point XGT PQ & O ¥ W 9ol U ¥ ¥ fag
Q so that OQ = 12cm. Length of PQ will Q W 9 UHR A & f5 0Q =12 9. | PQ
be - o cAdTs BRI — |
(A) V119 cm (B) 13 cm (A) V119 99 (B) 13 &,
(€) 12 cm (D) 8.5 cm ©) 12 ¥ (D) 8.5 ¥,

57. Average age of 8 persons is increased by 2 years ~ 57- 8 @ifkra} Y affea Y 2 99 9 IR B, o
when two persons of age 20 years and 24 years 20 79 3R 24 99 3y Y Q) Al BT QA
are replaced by two women. Average age of Aigerell & g far S 2| 39 S aRee
these two women is - @ 3T oMy ¥ —

(A) 20 years (B) 25 years (A) 20 a§. (B) 25
(C) 30 years (D) 35 years (©) 30 7§ (D) 35 ¢
58. Inthe given figure, CE is the bisector of ZACD.. = 58. Ry v o o CE, ZACD &T Wafgursia 2 |
If ZA = 55° and AB = BC, then ZACE = Ife LA =55° 3R AB=BC,dl ZACE=..... -
A E A E
55° E
. B C D B e D
(A) 550 (B) 35° (A) 55° (B) 35°
(C) 45° (D) 62.5° (C) 45° (D) 62.5°

59. For which value of k, the following sys'tem of 59. k & ﬁﬂ? a9 & fag e L\)T@I'CB TGO &
linear equations has infinite solutions? e & aa T e 89
x+k+1y=5 _ ; x+k+1y=5
k+1)x+9y=8k-1 k+Dx+9y=8k-1
(A) 0 (B) 1 (A) 0 (B) 1
(©) 2 (D) 3 ©) 2 (D) 3

60. Decimal value of g will be - B0 ;—: BT SRHAT A foamr g —

(A) 10.104 (B) 9.104 (A) 10.104 (B) 9.104
V1,104 (D) 0.104 (©) 1.104 (D) 0.104
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61. In given figure, O is the centre of the circle and 61. iy v g #, O g9 @1 B= © iR ACBO
ACBO is a parallelogram. ZACB = ............ TP FARR TS & | ZACB = ............
)
A \‘ B A B
<
C C
(A) 90° (B) 110° (A) 90° (B) 110°
(©) 120° (D) 135° | (©) 120° (D) 135°

62. If(2x — 1) is a factor of 2x> + ax* + 11x + a + 62. gt 2x-1), 2¢ +ax’>+ 1lx+a+3 & &
3, then value of a is - UHES 8, Aadl qF & —

(A) -5 (B) 5 (A) -5 (B) 5
(C) -7 (D) 7 ©) 7 (D) 7

63. (0.2)34(0.3)3+(0.5)3-3%0.2x0.3%0.5 63. (0.2)3+(0.3)3+(0.5)3~3x0.2%0.3%0.5
(0.2)24(0.3)2+(0.5)2-0.2%0.3-0.2X0.5-0.3X0.5 (0.2)24(0.3)2+(0.5)2-0.2x0.3-0.2X0,5+0.3%0.5
is equal to - 2 —

(A) 1 (B) 0.8 (A) 1 (B) 0.8
(€ 0.7 (D) 0.5 (€) 0.7 (D) 0.5 _

64. A friend says to other “Give me hundred rupees 64. wop fi TR ¥ FEal 8 b, I q9 4 B
friend! 1 shall then become twice as rich as |t B9 ¢ g1 Al H GE Y AT &R 8T S
you.” Other replies, “If you give me ten rupees, EGRESITN oaT & 5 afe A ‘j?l T TH
I shall be six times as rich as you.” How much 3, ar § g B AT e R S | ] @
rupees both have respectively? Uy HES: ey s ¥
(A) 140,170 (B) 50,3170 - (A) 140%,170% (B) 50%.170%
(€)%30,%170 (B) 40,3170 (€) 30%,170% (D) 40%, 1703

65. Radius of a hemispherical bowl is 3cm. Find 65. T SEIMIEHR HeR @ B3rar 3 W41 8 | 599
volume of water that can be filled in the ISR W O b arel U1 BT aH fpadr
bowl.  Y¥: BIT? :

(A) 187 cm® (B) 36 cm® . B 1gm 2 ®) s6m ¥
(©) 9t cm? (D) 72; cm? (©) onr a3 D) 7om 43

66. Average present age of Ritu and Priya is 22. 66. Rq sk forar &1 g IR &7 T 228 |
After 8 years, ratio b/w Priya’s age to Ritu’s age 8 aul & F1, By ok Rg @1 oMy &1 & gud
is 7 : 8, then find the ratio of Ritu’s age to 7:8 8 2 day Uyl Rg &1 3y &1 W a1
Priya’s age two years ago. Mg g AT a T BITT?

W 12:11 B 11:9 A 12:11 B 11:9
€ 8:7 ©)9:7 ©8:7 (©)9:7
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67. A two digit number gets reversed when 1/5th of 6. U SI-3H1 TET SeTe W) & 09 99 aee
it is added to it. Find the 40% of that T (1,/5) 1 91T 3HH ST W7l & | S HeEw
number. | T 40% ST B |

(A) 32 (B) 36 (A) 32 (B) 36
(©) 20 (D) 18 (C) 20 (D) 18

68. How much compound interest will be paid by a 68. 7003 ®1 3 o & forv 4% T TIhgly ST
person for loan of X 700 at the rate of 4% annual IR A Y TY YR B goar d A Exy|
compound interest for 3 years? faeT s YA HAT ggT?

(A) T84 (B) T 28 (A) 84 % (B) 28 %
(C) T 87.40 (D) T 124 (C) 87.40%2 (D) 1243

69. 5 people were asked about the time in a week 69. 5 =fdTal | ywT Wwar @ S=W SO b
they spend in doing social work in their AHeR¥e B @ forw ween 20, 14, 26, 40 3R
community. They replied 20, 14, 26, 40 and 30 30 gve Uy |awE o0 ¥ Sad Afdaa gR
hours respectively. Find the mean (or average) Jiraa wHa ufy g fraer far o 27
time in a week devoted by them for social work. (A) 20 T (B) 14 wer
(A) 20 hours (B) 14 hoqrs (©) 40 we (D) 26 e
(C) 40 hours (D) 26 hours

70. In the given figure the value of x equals- 70. fv w7q 5 & x &7 49 fba=r 2n?

S P NP —> b — —pc —
(A) ab (B) 2< (A) ab (B) 2<.
atc : a+b a+c a+b
(C) 2 (D) ab (C) 2 (D) ab
b+c b+c ‘ b+c b+c

71. If least common multiple of two numbers is 225 71. afe &) GBI BT TR GEOTdF 225 ¥ ok
and the highest common factor is 5, then find ST - SIS OFES 5 2 AT § s
the numbers when one of the numbers is 257 gﬂ'ﬂ DI 9 & e gy 25 27
(A) 75 (B) 65 . (A) 75 (B) 65
© 15 (0) 45 i (©) 15 (D) 45
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72.

72. The greatest length of the scale that can measure 30 941, 90 ¥, 1 #Hiex 20 ). 3R 1 AR
exactly 30 cm, 90 cm, 1 m 20 cm and 1 m 35 35 9. o918 AU 9T UM @) |9 99
cm lengths is - SEIE
(©) 15 cm (D) 30 cm (C) 15 |, (D) 30 =¥,

73. Voice of which of the following is likely tohave ~ 73. f=feiRad # 9 fhda) fmarst &1 gy REaw
minimum frequency? B B [IIaT 87
(A) woman (B) baby girl (A) 3iRa (B) T
(C) man (D) baby boy (©) goy (D) ST

74. Which of the following fuel has maximum 7. fo=faRag & ¥ o9 So9 &1 o9
calorific value (in kJ/kg)? A / HeARithd A (ki/kg ®) fdrwas g7
(A) Coal (B) Petrol " (A) BT (B) Ugra
(C) Methane (D) LPG (©) Ao (D) Ter o,

75. Which rocks are known as Primary rocks? 75. {5 FEMI B YRS TEEl © U H ST

T 87
(A) metamorphic rocks (A) BRITART =2
(B) sedimentary rocks (B) argaTe) w2 E
(C) igneous rocks (©) s T x
(D) All of the above o S

76. Recently, which one ‘of the following was  76- &l €1 # gy wrgufd 1/ UfSved ek 9
awarded the President’s Colour? wwfa fear w87
(A) INS Vikrant ' (A) g, . vg. fasid
(B) INS Vikramaditya (B) ang. TA. wo. famwfew
(C) INS Valsura (C) 3E. TA. TH. qeRT
(D) INS Sahayadri (D) 312, TH. TY. TR

77. Water stored in earthen pots become cool in  77- 421 & @l # WA U MwHEHE H 3T &

. summer because of- ST 8, $HHT BRI -
(A) evaporation (B) condensation (A) grefiHor (B) ¥g+
(C) precipitation (D) osmosis (C) aragyuy (D) gRTERYT

78. The cause of mirage formation in desert is- 78. THXIA W HIAGEN & IO HT BRI & —

(A) the refractive ~ index of atmosphere (A) 918 & A aIgHSA BT JYAID gedl
decreases with decrease in height 2

(B) the refractive index of atmosphere increases (B) $TS & WY dRIHSH HT IUTCHID qgdl
with decrease in height 2 _

(C) the refractive index of atmosphere does not (C) Su1E @ WY AYASA BT A T
change with height e -

(D) Scattering (D) gt
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79. Why oil does not mix with water? 79. dt T § gt w8 e 27
(A) Molecules of oil are polar (A) T & 1] gard B &
(B) Molecules of oil are bigger than that of (B) UeT @ ofT] U I IS 29 &
water (C) Fact A T B
(C) Only A is correct _ ©) A R B oF wd &
(D) Both A and B are corect '
80. In which district of Rajasthan the PM WANI . 80. 3o & fe forer # g1 & & dioa ool
Scheme launched recently? AT BT YPARH HT?
(A) Jaipur (B) Jodhpur (A) SR (B) SRIYR
(C) Udaipur (D) Pratapgarh (C) STTR (D) yaTuTE
81. The 5G test bed for Army Training Command 81. aif 2fr Fwis @ folg 5G <X I B WUl
will be established at- BT FATTIH— :
(A) Army College of Telecommunication, in (A) it pfer @it SharyfRdeE, 9 3
Bombay | B) ff @i ofw  ehmgfideE
(B) Military College of Telecommunication St 7 3
Engineering, in Mhow © B sfee o wmw ue
(€) Military ~ College of  Science and ‘ m TP
Telecommunication, in Bangalore o . . :
(D) Army Cc;llege of Science and ® GTPﬂ Eﬁl’?ﬁﬁ TP IR RS '
Telecommunication, in Indore ¥ H
82. Areolar connective tissue is not found in - 82. yRaNeR TAH Had TEl grl Sl 8 -
(A) between the skin and muscles (A) = SR wigul3nt & 4= +
(B) between internal organs . (B) ar=aR& i & §1 #
(C) around blood vessels E (€) vaq aifedrel © g gt #
(D) the bone marrow (D) aRerooT 3
83. The presence of the cell wall enables the cells 83. mif¥frpr RN @ SuyRwfy diel, Fad ek
of plants, fungi and bacteria to exist without GﬂaTﬂlsﬁ &) DI o fam we fFa aray
bursting in which medium? # #ioE e | weW g 20
(A) Isotonic (B) Hypertonic (A) srgEeIfTS (B) grzwRefd
(C) Hypotonic (D) All of the above (©) Tt (D) SR Y
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- NUETad—CS2 & waer gaq siaRer B,

84. The PSLV-C52 successfully launched which 84
satellite from the first launch pad of Satish MERPET & Usal o= I & 59 STE 3T
Dhawan Space Centre, Sriharikota? AHAAYdH =g fbar?
(A) EOS - 01 (B) EOS - 02 (A) EOS - 01 (B) EO‘S )
(C) EOS - 03 (D) EOS - 04 (C) EOS - 03 (D) EOS - 04
85. GSAT-24 satellite was launched on space = 85- GSAT-24 SUUE @ ... WA SUT gRT
launch vehicle, by French company - SaRer veger I R =g far T o)
(A) Arianespace (B) SpaceX (A) TRETERT (B) Wrguad
(C) Rocket lab (D) Ariane 5 (C) Jfae A9 (D) TR 5
86. At which height GPS satellites are placed? 86. Gdigy. dcense fra S W wiftg fay
_ Sin ST
(A) 9000 km (B) 36,000 km i
(R) 9000 fa41. (B) 36,000 fob.H1.
(C) 20,200 km (B) 30,200 km (C) 20200 R, (D) 30,200 frAL.
87. NH - 925A was used for emergency landing of 87 ISR It 925 A, 9Rdg YT B DI
which IAF aircraft? - A TIPS B AMUDTeNA ofeT & forg
ST fhar T or?
(A) Hercules DC-130J
(A) Exagfer DC-1307
(B) Hercules C-130J
. (B) gragfer C-130)
(C) Hercules KC-130J E% _ (C) TR KC-130]
(D) Hercules MC-130J (D) gm MC-130J
88. How long does it take for a GPS signal to reach 88. Shdive. Rieiet &1 godfl a% ugem ¥ fdaan
the earth? | HHA AT 8?
(A) 1725 second (B) 1/10 second (A) 1/25 TB< (B) 1/10 T
(C) 1/20 second (D) 1/15 second (C) 120 Aa:s D) 1/15 T
89. In which months rainfall occurs through the 89. o W uf¥el femdt & auf fbg adT A
western disturbances in Rajasthan? By 2° _‘
(A) July and August (A) Jerg 3iR ST
(B) April and May (B) aret 3k W&
(C) September and October (c)ﬁqﬂrﬁ-’-\,r AR TR
b ,
(D) December and January (D) frrmaR iR S
123 - @ Page 15 of 32



90. Desert Development Programme was started in 90. o H 7S AP FRIBH B BT §§'
Rajasthan in the year- - T
By s (B) 197778 (A) 9 1974-75 % (B) ad 1977-78 #
(©) 1981-82, (D) 1999 (C) a9 1981-82 § (D) a¥ 1999 #
91. Match th sy@]lowing— 9. F=faRed @1 gafea HIRA -
List-1-” -1
(a) Barkh%;}‘ég (a) TREH
(b) Lathi gé'ﬁe; (b) TS s
(c) Inselberg () Serat
(d) Playa (d)
List-1 g o 11
(i) Abu m%utain block 4 .
b - (i) g uda Ee
(ii) Sand detie Ef ) 1 -
(iii) Dry 1ake (1) e T
LN (iii) gp et
(iv) Undefgtound water belt
Correct code is — , @iv) Tlﬁ—cﬁ STeTeet
HE BT T —
(A) (a)-(iiS;?gib)-(iv), (c)-(iii), (d)-(i)- (A) (a)-(ii), (b)-(iv), (c)-(id), (d)-(i)
o '
(B) (a)-(i%b)-(ii), (c)-(1), (d)-(iii) (B) (a)-(iv), (b)-(ii), (c)-(i), (d)-(iii)
(© (a)-(iii;:;(b)-(i\’), (©)-(1), (d)-(i1) (€) (a)-(iii), (b)-(iv), (c)-(1), (d)-(ii)
LN
(D) (a)-(ii)tb)-(iv), (c)-(1), (d)-(iii) (D) (@)-(ii), (b)-(iv), ()-(1). (d)-(iii)
92. Sirohi, Pali and Jalore districts comes under 92. ¥R, uTel qn Gﬂ?ﬁ? Rret, IoTmE & 5y
which agr§9 %cﬂlimatic zone of Rajasthan? Zﬁﬁ EEEIEeLS @ AT ag &7
(A) I-A ?}% (B) II-A (A) 1-A (B) 1I-A
©ne L (D) I-B . ©uB (D) 111-B
93. Which is p{ correctly matched? 93. pyar wE) gAfera wEl &7
(A) Vagaci?fDungarpur-Baswara (A) aFTs — FRYR-FIFaTS]
(B) Mewat — Alwar-Bharatpur (B) #ATT — STeIaR—HRAIR
(C) Bhomat — Pratapgarh-Chittorgarh (C) Wrfe — TaTTe—RreTe
(D) Hadoti — Kota—Bundi—Jhalawar (D) BRI — BrET-gE TS
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94. Which statement is not correct? 94. T HUAF I 27 ,
(A) Dry teak forests are found in Southern parts (A) gsh FRTa 99 o= & gferoft wrT |
of Rajasthan. U T g |
(B) Mixed deciduous forests are found in (B) af¥a uase @+ SR, foxiteme 3R
-Udaipur, Chittorgarh and Sirohi districts. gt foret § e €1
(C) Sub-tropical evergreen forests are found in (C) Sutwr Hfedfia wereER a9 ang uddia &
-Mount Abu region. CRUORCI S
(D) Tropical thorn farcsts are mostly found in - (D) SumREdT FieER T sifiwie: ot
Eastern part of Rajasthan. 0 RTTeRI # ferd €
- 95. Which of following medicinal plant is not i%% fFrafafag & & o= vy den worem™
included in Rajasthan Ghar-Ghar Aushadhi g,;;;f TR—ER SRy Ao # enfer ST 7
Yojana? £
(A) Aswagandha (B) Musli :}% (A) Srearer (B) wgsredt
(€) Gilloy (D) Kalmegh (C) firetrg (D) ey
%. As per new system of soil classification the 9. Hygr % Adr wiftewor B W ISR H
“Alfisols’ soil is found in Rajasthan in - e STl HaT ar ol ® -
(A) Jaipur, Alwar and Kota | ;gz Dy W" R e m i
(B) Churu, Jhunjhunu and Sikar e (B) 7o, G R W H
(C) Jaisalmer and Barmer ?:; (C) SR AR AT A
(D) Pratapgarh and Sirohi (D) yargTe iR RiiE #
97. The ‘Great Artesian Basin’ is located at - 737, Y e IR erafer & -
(A) South America  (B) North America i; (A) el amRepr # (B) 9ol ardRast §
(C) Australia (D) Antarctica {%i (C) aitferar & (D) srverepfedT 3
98. The ‘Submarine Canyons’ are locate on/in - E% - et ARG HiE sraferd gl ?l -
(A) Continental shelf T (A) HEe g JiEdel iR ‘
(B) Continental slopes (B) Ter i et W .
(C) Deep sea plains . (© sy AR YeEi i ﬁ
(D) Ocean deeps z‘;; (D) W= et
99. ‘Funafuti’ is a - Z%:g W‘Eé’f% - .
(A) River in Japan (B) Lake in Japan ;%; (A) Su= # e 98 (B) S A U e
(C) Atoll (D) Currency of Tuvalu 53 (C) yaret 29 - (D) qarc]  Hq5T
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100.

Which isohyet separates the Sandy Arid Plains

" and Semi-arid Transitional Plains of

101.

102.

103.

104.

105.

(C) Rewasa

‘Rajasthan? ‘

(A) 10 cm (B) 50'cm

(€) 75 cm - (D) 25 cm

Which one of the following is not a salt water

lake?

(A) Kavod (B) Deedwana
(D) Jaitsagar

Which state has the maximum Ramsar wetland
sites in India?
(A) Uttarakhand
(C) Odisha .

(B) Madhya Pradesh
(D) Uttar Pradesh

Match List-1 with List —II and choose the correct
answer from the code given below —

List-1 (City) List-11 (Industry)
(1) Detroit (a) Cutlery
(i) Sheffield " (b) Automobile
(iii) Los Angeles (¢) Film
(iv) Multan (d) Pottery
Code -,

(A) (i)-(c), (iD)~(a), (iiD)-(b), (iv)-(d) Eﬁ
(B) (D)-(b), (if)-(a), (iiD)-(c), (iv)-(d) -
(©) (i)-(b), (ii)-(c), (iii)-(a), (iv)-(d)
(B) (1)-(b), (ii)-(c), (iiD)~(d), (iv)-(2)

Which Topography is found along the foothills
‘of the Shiwaliks?

(A) Bhangar (B) Khadar

(C) Bhabar (D). Delta

Which river enters into Rajasthan from North
direction? »

(A) Chambal (B) Mahi -

(C) Ghagghar (D) Kantli

100.

101.

IR B Wil Y ATM qA G-I
Hedl 27 ’

(A) 10 9. (B) 50 94l

(€) 75 @ﬁ’r (D) 25 9HI.

Prefofed § @ S T (@R) T A
gt A8 8?

(A) HTaTg (B) SrgamHT

(C) Xarar (D) ST

102.

103.

yRa & fpg 5w A et AR SmhE
@I B7

(A) SRETS (B) Feweel
() ahfEam (D) STR W
A1 P G-I & wfert B e i
T He # | F8l SR gy — ,
A1 (TR) YA (SE)

(i) Sgiae (a) BNl
(ii) APTes (b) e
(iii) e gaiferd (c) frew
(iv) g (@) ot & 7=

: aza —_—

104.

105.

() (D-(c), (Gi)-(a), (iii)-(b), (v)-(d)
(B) (i)-(b), (ii)-(a), (iii)-(c), (iv)-(d)
(©) ()-(b), (ii)-(c), (ii)-(a), (iv)-(d)
(D) (i)-(b), (ii)-(c), (iii)-(d), (iv)-(2)
Rrarfers @ udd uel § B R@H TRl
ST 87 '
(A) 9R (B) @ex

(C) 9T (D) ST

Frr T o ¥ SR Q9T | WaE dedl
87

(A) =§d (B) HTE

(C) =FeR (D) FT=Iell
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107.

- 5
106 Which of the following districts is not covered 106 SRITeA TIpROT URASHT & ardifa fpg § §
by Aravalli afforestation project? DIar Rrer w8t amar 87
(A) Sikar (B) Pali (A) Hepx (B) uraiy
(C) Nagaur (D) Ajmer (C) 7R (D) sroER
Normal Lapse rate -of temperature in  107. gipguger & | Y U 8Y @ —

108.

109.

111,

troposphere is -
(A) 5.5°C/1000 meter - -

(B) 6.5°C/1000 meter

(€) 10°C/1000 meter

(D) 3°C/1000 meter ‘

Which one of the following (Mineral -

Production area) is not cotrectly matched?

(A) Garnet — Rajmahal

(B) Emerald — Kalaguman

(C) Pyrite — Sarwar

(D) Soap stone — Rishabdev ,

Which of Ithe following is not correctly
matched?

(A) National Desert Park — Jaisalmer

(B) Joganiya Mata Temple — Bhilwara

(C) Sunehri Kothi — Sikar

- (D) Moosi Maharani ki Chhatri — Alwar
110.

When was “Mukhyamantri Yuva Sambal
Yojana” started in Rajasthan?
(A) 10" March, 2019 (B 1% February, 2019

(C) 10™ March, 2020 (D) 1 February, 2020

The earth reaches its perihelion in - 1,
(A) July (B) January
(C) September (D) March

108.

109.

110.

(A) 5.5°C/1000 Hrex

(B) 6.5°C/1000 #rex

(€) 10°C/1000 Hrex

(D) 3°C/1000 #Hrex

FrafeRea % & P (@fie — sares &)
ghw g |
(R) TTre /e — TR

(B) 9=TT—~aTeIR A

(C) urRIET — WRaTS

(D) €21 geer — =mwdg

1 & & e gifer w8 &

(©) Gt B — W
(D) 7t W @ B — s
UR™ @) T

(A) 10 ==k, 2019 (B) 1 wra®)- 2019
(C) 10 51, 2020 (D) 1 wRad), 2020
gedt SURIR Y oraven ¥ g & —

(A) Serrg & (B) Sy #

(C) Ryawmw # (D) =15 +
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S

112.

Among the following which is the first Wind
Power Project in Rajasthan? ’
(A) Devgarh Wind Power Project

. (B) Bithadi Wind Power Project

(C) Phalodi Wind Power Project

- (D) Amarsagar Wind Power Project

113.

114.

According to Indira Gandhi lift Canal Project,

which statement are incorrect?

(i) This project was previously known as
Rajasthan Canal and later renamed as Indira
Gandhi lift Canal Project in 1982.

(ii) There are 9 lift canals in Indira Gandhi lift

Canal Project. '

(iii) The Canal was conceived by Sardul Singh.

(iv) The canal_ddes not passes through Haryana.

Code - ’

(A) (i) and (ii) only

(B) (i), (i) and (iii) only

EZE

(C) (ii), (iii) and (iv) only

(D) (i), (i), (iii) and (iv)

According . to the 73rd amendment of the
Panchayati Raj System of the Constitution,
Which statements are correct? _

(1) In Panchayati Raj Institutions at least 2/3 of
the post of Chairperson are reserved for
women.

(ii) 11th schedule was added in the Constitution

by the 73rd Constitutional Amendment.
(iii) Madhya Pradesh was the first state to
implement the 73rd Constitutional
Amendment.

(iv) The 73rd Constitutional Amendment Act
came into force from April 24, 1994.

(A) (i) and (iii)

(B) (ii) and (iii)

(C) (ii), (iii) and (i)

(D) (ii), (iii) and (iv)

112

113.

114.

frafafea & @ IoUE 31 e gad Fol

gRaTeT B A1 87

(A) e UgH HolT TRASTT

(B) Y ygw Huil yRAST

(C) B Tgd FHoll URIASTT

(D) IMRENR Ugd HoIt afRars=n

g M TR wRae @ AR, I |

HUF AT &7

(i) 9 YRS ® TEd ORI TR B BY
H ST War o7 3R 1982 H g1 TAH
e 3fext MY forde e uRaeHr &)
far o

(i) <y e =Ex eRare § 9 fove e
gl :

(iii) TER B FouA ARG e 7 @1 |

(iv) 7TeR eRamon | T8 TorRdl 21

e —

(A) e (i) 3R (1)

(B) ®adT (i), (ii) AR (iii)

(C) Baa (ib), (iii) 3R (iv)

(D) (i), (ii), (iii) 3R (@iv)

R BT dEd WS gawen ® 73d e

® AR DI W HUT GBI 87

() HETEE NS Gt # armer & HH W HH
2/3 Ug Higaet & forg omRféa & |

(i) 73% feers deA gRT 11d SggE &
wfeur § Srer T3 |

(i) FeAWR 7391 WRETS e A B
AT UEEAT I o7 |

(v) 7397 Gfeem e sffras 24 e,
1994 ¥ T g |

(A) () 3R (i)
(B) (ii) 3R (iii)
(©) (i), (iii) 3R @)
(D) i), (iii) 3R (iv)
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115, Vertisol soil is found in which part of

116.

117.

118.

119,

120.

Rajasthzm"

(A) North — Western part
(B) South — Western part
(C) South ~ Eastern part
(D) Eastern part

Which of the following river is not related with
Inland drainage? ,
(B) Ghaggar

(A) Sabi

(C) Kakni (D) Sagi

Which of the following lakes of Rajasthan is not
included in National Lake Conservation
Programme? _

(A) Fateh Sagar (B) Nakki

(C) Ana Sagar (D) Rajsamand

Which cne of the following (Irrigation project —
District) is not correctly matched?

(A) Bilas — Baran

(C) Panchana —

(B) Chauli - Dungarpur
(D) Gararda — Bundi

Karauli
Which oilseed is grown in Rabi season n
Rajasthan? '
(A) Mustard (B) Groundnut

(C) Soybean (D) Sesame

Which (Industrial Park - Place) is not correctly

matched?

(A) Leather Park — Achrol

(B) Japanese park — Neemrana
(C) Stone park — Dholpur

(D) Hosiery park — Chopanki

115.

116.

117.

118.

119.

120.

a%@aﬁa—&"ﬂmmzﬁﬁmwﬁﬁa—cﬁ
27

(A) TER—TReH

(B) zférofi—uf¥endt sy

(C) gferor—ydf wpr

(D) g&f w7 |
e & & a4 98 ariafe smae @
e T8 87

(A) T (B) TeR

(C) re (D) wrfy

NS e WRET BRI B o <o
&1 Frfead 4 S & dher nfver 781 &
(A) BoE |R (B) T

(C) 3T AR (D) ¥roTeHE

ﬁw%@aﬁ@aﬁqw(ﬁﬁﬁuﬁﬁmm

forem) gaferg =&t &2 | :
(A) et — aRi (B) Hiell — GRgR
(C) afel — BRI (D) R — ey

ROIF # B9 A RiaeT &) v9e ) o

A d 9 o)y @7
(A) Tt (B) el
(©) Irade (D) farer

aﬁqw(sﬁaﬁ’cﬁmﬁ-wﬁ)ﬂfrﬁﬁ%ﬁﬂ‘zﬁ
27
(A) 9T 9T — 3R

(B) ST+t 9mep — - ey o
(©) & e — degR
(D) Bt Ut — Ay
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R

121. Which (Dam - District) is not correctly 121 ®F &7 (Fitr — fotet) et uferd =& 27

122.

123.

124,

125,

matched?

(A} Gosunda dam ~ Chittorgarh

(B) Hingonia dam - Jaipur

(C) Mora Sagar dam — Tonk

(D) Panchana dam — Karauli

Which one of the following (Tribe -
Place/Area) is not correctly matched?
(A) Damor — Dungarpur

(B) Kathodi — Simalwara

(C) Garasia ~ Sirohi, Udaipur

(D) Rebari — Baran

Which (Handicraft — Place) is not correctly
matched?

(A) Bandhej Tie and Dye — Jaipur

(B) Masuria Sari — Kaithoon

(C) Wooden Toys — Bassi

(D) Tarkashi Work — Udaipur

The ‘Chambal and
improved varieties of which crop?

(A) Gram (B) Mustard

‘Mahi Sugandha’ are

(©) Rice (D) Sugarcane

Which (Place — Energy Source) is not correctly
matched? _
(A) Jaisalmer— Wind Energy

A

(B) Rawatbhata — Atomic Energy

- () Gorir - Solar Energy

(D) Giral — Geothermal Energy

122.

123.

124.

125.

(A) BrgusT 9ier — frcieTe

(B) TR oy — SR

(©) AT WTR Wi — S

(D) wierT aier — e
Frefalea & @ 9 a1 (Seenfo—ver= /em)
gAferd & 87

(A) SR — TR

(B) SelrSl — RyAerarsT

(©) TRIRkmT — AR, STaR

(D) \ETT — IRT

BH A (EERT - W) wE gafea e
22

(A) 389 (€8 U8 %) — TR

(B) wgfRar W — e

(C) Fws & Ragsim — ot

(D) ARBIN BT B — IIYGR

T AR AE G 5 wHa # I+
fope 27 '

(A) =T (B) w=Y
(C) =mae (D) =1

B A (RAE -~ Foll &1 Sid) & gafer
BRI
() SR — g FHol

(B) RraeIer — AT Hoi
(C) IRR — ¥R Tt
(D) fret — qardrg &wt
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126.

127.

128.

129.

130.

Degana — Bhakri in Rajasthan is famous for
which mineral?

(B) Copper

(D) Silver

(A) Beryllium
(C) Tungsten

How many districts were affected by famine in
Rajasthan in 2020-21?

(A) 9 (B) 21

(©) 10 (D) 6

The agriculture done by slash and burn in
Rajasthan is called -

(A) Kachhabu (B) Pal

(C) Walra (D) Gameti

Which one of the following (Research institute
~ State/place) is not matched correctly?

(A) Central Sugarcane Research Institute
— Coimbatore

(B) Central Plantation Crops Research Institute

~ —Kasargod

(C) Central Coffee Research Institute — Bellary

(D) Central Tobacco

~ Rajahmundry

Research  Institute

_The agriculture and allied sector is expected to

contribute to ..........

percent in Rajasthan’s

126.

127.

128.

129,

130.

RISTRIT T ST — 91 &1 by @frer &

forg ufg 87

(A) aRferm (B) aiar

(©) T (D) =i
AR H 202021 § fhan R s @
waTfae gue

(A) 9 (B) 21

©) 10 (D) 6

ST # 41 BT BIeHY T STl a7 S
arell S B & —
(B) grer

()
FrefaRes & & B (e e
RIS /R gHfera w1 8°

(&) By =T ST W — PRy

(B)mﬂwwgﬁaﬁw—m

(C) H=1T BIw) Ty Heo — Jerd
(D) T T I AR — o

HfY vd SR &3 B a¥ 202021 F adEE
DI TR RACRAT & el I o T H

Gross State Value Added (GSVA) at current FRYeTT ARTaT R BT ST B |
prices during the year 2020-21. R
(A) 20.77 (B) 29.77 (A) 20.77 (B) 29.77
() 27.77 (D) 33.77 (©) 27.77 (D) 33.77
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131. Which crop showed the highest increase in
output during 35 years from 1980-81 to 2015 in
Rajasihan?
(A) Bajra (B) Wheat

(C) Rapesee(i and (D) Sugarcane

Mustard

132. On the basis of populations of tribes, the place

of Rajasthan in India is -

(A) 3d (B) 2nd
(C) 4t (D) 6

133. When was Rajasthan Agro Processing
Agribusiness and Agri Exports Promotion
Policy launched?

(A) .17 December, 2019

(B) 18 December, 2020

(C) 17 December, 2018

(D) 18 December, 2017

134. Which of the following is not a beneficiary crop
through the Mavath?
(A) Gram (B) Wheat

(C) Groundnut (D) Mustard

135. In Rajasthan ‘Jeevan Dhara Yojana’ is related
with -
(A) Insurance for poor
(B) To built irrigation wells for SC and ST
(C) Health facility for SC and ST

(D) Drinking water for urban areas -

131, 3roieen # 1980-81 9 2015 O & 35 anl &
dRM fba wEe A Saed § waie iy

& R
o 5
A
§ (A) SO (B) 1§
z (C) afRar 3k wxar (D) =T
o
kS

132. AR &) ST & STEN UR NToTeel
?‘"‘«;
7 o1 9Ra ¥ B9 | e 82
)
S0
) (A) ==Y (B) g&vT
=
if;; (C) et (D) Bat
(S '

133, 3o ?pﬁww PN g™ wd BN
o3t ucaea Y B9 TR @Y e

=2 (A) 17 TR, 2019
o (B) g fRweR, 2020
P (C) 17 fedeR, 2018
% (D) 18 fefaR, 2017
134 Prerfofe ¥ 7T @RI e we @
N e |

(A) =T (B) &
(C) Hrweft (D) H<H}
135. qovey #H Sllgd ORT ATSET HT GE
3
(A) Ta 2g T
(B) g, 3ik Ta.d). &g Riane oot & o
q

(C) T Al 3k A.d 2 ey giawn 4
(D) T &3 3 U @ U |
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136. Which one of the following enterprise is not of ~ 136. fr=ifaRag & W BT AT SUB IR BT
government of Rajasthan? BT T8 87 ,
(A) The Hi-tech Precision Glass Limited- (A) < B2 IR o fafee — BICIN
Dholpur o '
| (B) IroTerm P fafies — Seam
(B) Rajasthan  State Chemical Limited - .
Deedwana (€) IR dicew fafies
- o
(C) Sambhar Salts Limited gf (D) 1 TR i Rfe
(D) Ganganagar Sugar Mills Limited (o v
137. In which year did Gandhiji write the book ‘Hindg‘? B7. 1 o 3 e weror I b oy §
Swaraj’? ?% fore?
(A) 1897 (B) 1906 T (B) 1906 -
(€) 1909 (D) 1919 (C) 1909 (D) 1919
' P
138. Which of the following .is an example oﬁgi 138. foforRe o @ &\ w1 o IRIDHAT FT T
w
Monolithic Architecture? - AR U1
i
g
(A) Dharmraj Rath of Mahabalipuram N (A) HEfoTgRd F7 eRT vor
- (B) Mahabodhi Temple of Gaya T4 (B) 1T T WET@fY e
C) Bri _ j o _ | .
( ) Brihadeshwara Temple of Thanjavur Z{gg (C) Ty BT gEReER AR
(D) Meenakshi Temple of Madurai - ¢ 1 ety <
enakshi Temple of Maduraij o ) i
e
139. Who among the following got constructed~~ 139. gegf a5 Bl BT AT Ry Peam o
Patwon ki Haveli? (A) wrfory Rig (B) 9y9e7
(A) Salim Singh ~ (B) Nathmal %1 (C) SRR H (D) AT =ig
)
(C) Jorawar Mal (D) Guman Chand <>
emn
£ , ;
140. Asind (Bhilwara) is related to which of thec~y 140. i (frerarer) FrefiRee q 59 o
—
following folk deity? T W Hag 27
(R) Deonarayan Ji (B) Mallinath Ji (A) TgaRTgor Gﬁ (B) Heeherer off
(C) Meha Ji (D) Ramdev Ji (©) ¥z oY (D) Mg oY
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141. Match the following — : 141. o o1 gaferd BifvTg —

Column — I | oo —1
(I) Hota | @ E
(I1) Udgata 1 _:
I 31921{1

(11 Adhvaryu i g .

_ Iv) Eilf?ﬂ i -
(IV) Purohit . E

| — 1T
Column -~ 11

a) I O B den ygE QRifed

‘ (
(a) The chief priest who performs the Yajna (b) Yo A Tl BT U I A
(
(

(b) One who chants the hymns of Rigveda ¢) WrRE @ wet @ N S

d)u\—ﬁ?{a}ﬁmmmﬁm

(c) One who recites the verses of Samveda

(d) One who reads' the Mantras of Yajurveda

(A) I-(b), II-(c), HI-(d), IV-(a)
(B) I-(a), I-(c), I-(d), IV-(b)
(C) I-(b), I-(a), II-(d), IV-(c)
(D) 1-(b), II-(d), MI-(c), IV-(a)

(A) I-(b), II-(c), ITI-(d), [V-(a)
(B) 1-(a), II-(c), II-(d), IV-(b) .
(C) 1-(b), I1-(a), INI-(d), IV-(c)
(D) 1-(b), 1-(d), HI-(c), IV-(a)
142. Which of the folléwing is a string instrument? 142. ffolRad & 4 #1491 a9 I &7
(A) Satéra (B) Morchang (A) HaRT (B) AT
(C) Rawaj | (D) Bankia ©) s (D) giferar

143. Which of the following is not correctly matched - 143. fFrafoiftgg & & @ ogar Rerpen &

as per Schools of Rajputana Paintings and their whelt AR SHa ARl & SrgER Wl gAferd

styles? _ a8 87

(A) Mewar School — Nathdwara and Devgarh (A) YaTe el — AUERT 3R Tave et
Styles ‘ '

' 8 ~ e dferdt
(B) Marwar School — Kishangarh and Nagaur (B) ARATS et — BTSSR

Styles (C) Tl Thet — HieT iR & dAferdt
(C) Hadoti School — Kota and Bundi Styles o _ .
g (D) GeR oot — TTde AR gAY Aferl

. (D) Dhundhar School — Chavand and Udaipur

Styles
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144,
() 1916

145,

147.

146.

When the Rajputana Madhya Bharat Sabha was
established?
(B) 1917

(€) 1918 (D) 1919

The inscription, which claims the victory of

Pratihara King Kakkuka over Abhir?

(A) Bijolia inscription (B) Arthuna inscription

(C) Ghatiyala (D) Chirva inscription
inscription

Arrange the following early ruler of Rathore

dynasty of Marwar into chronological order?

(i) Rao Siha

(i1) Rao Asthan

(iii) Rao Doohad

(iv) Rao Raipal E

Choose the correct code -

(A) (i), (i), (i), (iv)

(B) (), (iv), (i), (ii)

(©) ), dii), Giv), (i)

() (i), (i), (iii), (iv)

Match the following —

Ancient divisions

of Rajasthan

(a) Ananta-Gochar

Modern districts

(1) Sirohi

(b) Swarnagiri (ii) Pratapgarh

(c) Kantal (1i1) Jalore
(d) Arbud (iv) Sikar
Code -

(A) a-(iv), b-(iii), c-(i1), d-(i)
(B) a-(ii), b-(iii), c-(iv), d-(i)

(©) a-(i), b-(ii), (i), d-(iv)

(D) a-(iii), b-(iv), c-(ii), d-(i)

144,

145.

146.

147.

wwmwwmwﬁa%ﬁ
ofi? |

(A) 1916 % (B) 1917 #
(€) 1918 # (D) 1919 ¥
e, ST SRIER AR Band B s o)

ﬁaumww%‘a

(R) drofiferar aiftrera (B) srefor arfivereg
(C) afearer siferg (D) RAT e
ARAE W e 99 B PrERfed g
TS DI FIABHIR IR T —
(i) W9 e

(ii) 319 3R

(iii) 19 @

(iv) RT9 XRATeT

(A) (), (i), (i), (iv)

(B) (i), (iv), (iii), (ii)

(©) (i), (iii), (iv), (ii)

(D) (i), (i), (iii), (iv)

ol = yafa #iftrg —
RISRAT % S frer
PICIGRE]

(a) TR (i) RRE

(b) wEifaRR (i) FaT9TE

(c) Piod (iii) SR

(d) 3z (iv) W

T —

(A) a-(iv), b-(iid), c-(ii), d-(i)
(B) a-(ii), b-(iii), c-(iv), d-(i)
(©) a-(i), b-(ii), c~(iii), d-(iv)
(D) a-(iii), b-(iv), c-(ii), d-(})
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148.

Match the following —
Author

(a) Jayanaka

(b) Nayanchandra Suri

(c) Chandra Shekhar

(d) Haribhadra Suri
Work

(1) Hammira Mahakavya

(ii) Samaraichchakaha

(ii1) Prithviraj Vijay

(iv) Surjan-Charitra

Code -

(A) a-(iv), b-(iii), c-(ii), d-(i)
(B) a-(iii), b-(i), c-(iv), d-(ii)
(C) a-(i), b-(ii), c-(iii), d-(iv)

'(D_) a-(iii), b-(iv), c-(ii), d-(i)

148.

ffoRaa o1 gafera SIfsy —
oD

(a) SIIOTHD

(b) FITE G

(©) ﬂ?@i@'\’

(d) BRwm
P

(i) TR HETHT

(i) FARISTEIDET

(iii) gedRT fasrg

(iv) gor aR=

HT —

(A) a-(iv), b-(iii), c-(ii), d-(i)

(B) a-(iii), b-(i), c-(iv), d-(ii)

(©) a-(i), b-(ii), c-(iit), d-(iv)

- (D) a-(iii), b-(iv), c-(ii), d-(i)

149. Helru Institution is associated with - 149. g% e Hag ® —
(A) Garasia tribe (B) Saharia tribe (A) TRIRTT ST & (B) 9=iyay Siena 9
(C) Bhil tribe (D) Meena tribe ©) N s ¥ (D) 91 Saoy @;
150. The ‘Hela Khyal’ folk music belongs to which 150 ‘g1 &a7er S Wi o % fhE a4 9
areas of Rajasthan? Hafoa 27
(A) Bhilwara - Ajmer (B) Sikar — Jhunjhunu (A) drerarsT — R (B) Hraw — 35
(C) Jodhpur — Bikaner (D) Dausa — Sawai (C) SR — dPER (D) v — waTs
Madhopur » W
151. ‘Chaar Bait’ is the folk drama of - 151. 'gRIq’ HEf BT AlBAICT 87
(A) Bharatpur (B) Jaipur (A) TRAGR (B) SR
(C) Tonk (D) Jalore (©) Tip (D) ST’
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152.

153.

154.

155.

Match the following —

Handicraft Place _
(1) Ajrakh print (i) Nathdwara
(2) Jajam print (ii) Chittorgarh
(3) Pichwai - (iii) Aakola
(4) Dabu print (iv) Barmer _
Code -

(A) 1-(iv), 2-(ii), 3-(i), 4-(iii)

(B) 1-Gii), 2-(iv), 3-(i), 4~(iii) E
(©) 1-(i), 2-(ii), 3-(iii), 4-(iv)
(D) 1-(iii), 2-(i), 3-(iv), 4-(ii)

What is ‘Maruvani’?

(A) A program broadcast from Jaipur radio
station

(B) Monthly magazine of Rajasthani language

(C) Dictionary of Rajasthani language

(D) Top collection of Rajasthani songs

Naulakha Baori near Dungarpur was built by -

(A) Nathavati (B) Premal Devi

(C) Ramarasade (D) Kishori Devi

Which fort amongst the following is put in the
category of ‘Dhanwan Fort’?

152.

153.

154,

155.

gAfra i —

E¥ARIeY Kl
(1) IoRe e (i) wIENI
(2) wire™ fie (i) RreareTe
(3) froarg (iii) 3BT
(4) =g fire (iv) ISR
e —

(A) 1-(iv), 2<(ii), 3-(i), 4~(ii)

(B) 1-(ii), 2-(iv), 3-(i), 4~(iii)

(©) 1), 2-(ii), 3-(ii), 4-(iv)

(D) 1-(iii), 2-(3), 3-(iv), 4-(ii)

Amarft T & ?

(A) IR T WA F waiRa sRimH

(B)‘ﬂmﬁwa%mﬁqzﬁtrf%ﬁm

(C) RToR 4197 &7 IR

(D) sy ey el &1 wuE ,
SRR @ e Arorg At R gars o2
W) TR (B) e

(C) IR (D) fHamy 2
sreiferad ¥ 3 B—ar gt arae gl @ Aol
# 3@T o 87

(A) Chittorgarh fort (A) frdteTre o
(B) Gagron fort (Jhalawar) (B) TR gt (grreraTs)
(C) Mehrangarh fort (Jodhpur) (©) evrTe if (GMrgR)
(D) Sonargarh fort (Jaisalmer) (D) ARG (Srem)
156. On the banks of which river did Ganeshwar 156 TR AR o7 e g 78 @ fhen
civilization develop? gar? ' v
- (A) Ghagghar (B) Luni (A) TTER (B) <
(C) Kantli (D) Banas (C) wiaah (D) 919
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157.

158.

159,

160.

~ (C) Keerat Singh

"Tjlas Khas" was founded by
(A) Maharaja Banne Singh

(B) Maharaja Ajit Singh

(C) Maharana Sajjan Singh

(D) Rana Bhagwant Singh

Bamlu, Likhmadesar, Panchala Siddha are

related with the sect -
(A) Bishnoi Sect (B) Nimbark Sect

(C) Ramsnehi Sect (D) Jasnathi Sect

In which year the Right to Hearing Act has
come into force in Rajasthan?
(A) 2010 (B) 2014

(C) 2012 (D) 2018

The ruler of Dholpur at the time of revolution of

1857 was. -
(A) Udaibhan Singh  (B) Ram Singh

(D) Bhagwant Singh

157.

158.

159.

160.

ST T B I B Al
(A)Wﬁﬁg

(B) wERIST 3ot i

(C) HERTYN HooTA e

(D) 37O e RE

m%mﬁmumwﬁ%@ﬁmwﬁ

T ¥
(A) RsE wEm (B) T wwIer
(C) TF=EY e (D) SRl |wiE

AR # gAaE $1 R AR fea

a¥ # TR ger?
(A) 2010 (B) 2014
(C) 2012 (D) 2018

1857 ) Sify B WY eI BT G o0 —

(A) S R (B) W Rig

(C)dﬁ?ﬁﬁ#é (D) g e
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Space for Rough Work /X% &1 & 1Y wrg
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Space for Rough Work /3% &1 & fog g

TR THE § ) wint ¥ — e ufy ok R uf, wen v W wden da o 9 ¢ wdenedf s
TSE B aF girt dee B A, wderlf i i ufh B o T8 wY | derd gRT STR UHE B
gy @) T U oW AR, iRl u @ qol ufd @ P AEA | ARSI WeuTigde e FR gdeef
1 G | sl B ol @) s w9
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